logarithmic V. ., Vgo, Vo, Lo data  Uy=(A-550)/5(
logV. =(loglVig+logLe)/2 loglo=—0,35[u)-u 2
logVgo=logV. +0,02 logL o=—0,35[u)~Us7d>
o Lol Adaptation: A, =

logarithmic V. ., Vgo, Vig/V. - Lo/V Ur=(A-550)/5(
logV. =(log\o+logLe)/2  loghie=—0,35luy—Us.]?
logVgo=logV. +0,02 logL o=—0,35[U)~Us7q>
log[Vgo, V. .. Mo/V. ., Lo/V. ] Adaptation: Ay =

570

¢ maximum maximum
log(V. m)=-0,0 1 log(V . m)=—0,01]
m=0,97 oV Lo/V V. 1=0,97

-1

3 U,

7(30 A/nm
R:545, 557, 570 EE351-2A S$545, 557, 570

o data U)\:()\—SSO)/E logarithmic V. . Vgo, o/V JV uA=(>\-550)/§

logV. =(log otlogto)/2 log ¢=—0,35uy-u ] logV. =(log ot+logtp)/2 log ¢=—0,35u)-u ]

logVge=logV. +0,35 log0=—0,35[\—u.-]? logVge=logV. +0,35 logo=-0,35[uy~u: - ]?

109[Vgo, V1 '0r ol Adaptation: A = log[Vgo, V., ofV.., Co/V. ] Adaptation: A .=

\

g > o maximum maximum
P ~ log(V . m)=-0,32 1 log(V . m)=-0,32
V. m=0,47 V. m=0,47
v Threshold oV oV Threshold
1T 1-=0.03. £=0,00 0 T.2003, £=0,00
N -1 1 3 Uy,
700 A/nm

R:420, 470, 520

Vgo, 0 Lo data Ux:(A—SSO)/g

logV. =(log o+tlogLe)/2 log o=-0,35[\-u ]

: logL 0=-0,35[u)—Us7?
| Adaptation: A =

0 = -
1 maximum
1 2 - log(V . m)=-0,32
V V. m=0,47
Threshold
-17 \Qn? +=0,00

logarithmic V. ., Vgo, - o/V. . Lo/V u,\:()\-sso)/g
logV. =(log o+loglLo)/2 log o=-0,35[u\—u ]
logL o=-0,35[U)~Us7g?

maximum
logV . m)=-0,32
V. =047

EE351-6A $:470, 520, 570
logarithmic V. . Vgo, “o/V. . oV u,\:()\_550)/g
logV. =(log-otlog ¢)/2 logo=—0,35u)-u:-]

Vgo, o odata UA:()\—SSO)/g
logV. =(log-otlog o)/2 logto=—0,35lu)\—u:-]

logVge=logV. +0,35 log 0=-0,35l-u ]2 logVge=logV. +0,35 log o=—0,350\-u ]2
109[Vgo, V. .+ Co, ol Adaptation: A =570 log[Vgo, V. .. ColV ., o/V. ] Adaptation: A- =570
51_0 570

¢ = "-\ maximum . maximum
I B R oV n=-032 1 loa(V_m)=-032

S e N .=0,47

/« /» A oV oV Thr(;sho!'i
AT, . T=0,03, $=0,00

.

N -1 1 3 Uy, ) 3 Uy,
400 500 500 700 A/nm

EE351-7A R:520, 570, 620 EE351-8A $5520, 570, 620



